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Question Nos.1 to 3
YT HEIT1 & 3TF

Directions / fder: Find the odd number/ letters/ worg
from the given alternatives.

v v el # & By gaa e oeg gt

1)
A)HIVW B)FGKL
C) ACDF D) TUOP
#,

2)
A)Cricket B) Chess

forape A
C) Football D) Hockey
A E.\.rlﬂ

3)
A)23 § B)17 %
C)13 ™ /D) 63 *°

4) Some equations are solved on the basis of certain

system. Find out the correct answer for the unsolved
equation on that basis.

o5 e el SOTTA & 3TER O gl R 10 §) 39
IR 9 &l o 3T 10 99 7 3ok gAY

I/t 12 x 9 =810 and/3iRX 15 x 9 =513

then/ar 13 x 8="2
A) 104 B)410

C)4l1 D) 401

5)

6)

7)

AQ2017--6610088 b L
A piece of paper is fomﬂﬁ“ .

: cut
the question figures. From the giv:: ::‘S)Wn beloy in
Wer fi

indicate how it will appear when openeq.  Bures,
ST 1T G 5 AT 75 e S sy,
e 2o :

Question Figure /¥ 3Tgfer

If' LONDON' is coded as MPOEPO. What code is
needed for 'DELHI' ?
7fz 'LONDON' &I HI5 MPOEPO A e@rsrarg ar

'DELHI I 38 @S # forgr smeem?
A)DEHLI B) HLDEI
C) EFIMJ D)EFMIJ

The total age of a mother and her daughter is 60 years.
The difference between their ages is 30 years. Find out
the age of mother.

a7 3R 3T G Y T WG 60 aY F| 3R L F

e &7 3T 30 T &) AT Y G AT AT
A)40 years B) 55 years
408 55 a9
_C) 45 years D) 50 years
45 9§ soay
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Question Nos.8 to 9
T TEAT 8 &9 T

pirections / I8 A series is given with one term

missing. Out of the four alternatives, choose the
alternative that will complete the series.

v HgwH o & fau# v vg g & | R oo
ar fAFedl # & aF Reey giav &t Jgwa & @
#

8) LL1,17,25.2
A)35 B)32
C)34 D)33
9)  BKS, DJT, FIU, HHV, 2.
A)IGU B)IGX
CHGW D)UX

a1 e P 161 e (e L

AQ2017--6610088

10) One or two statements are given followed by two

Conclusions/Assumptions, I and 1I . You have to
consider the statement to be true, even if it seems to be
at variance from commonly known facts. You are to
decide which of the given conclusions/assumptions can

definitely be drawn from the given statement. Indicate
your answer.,

Statement:

L. All Players are Singers.

II. All Dancers are Singers.

I. Some Singers are Dancers.
II. Some Dancers are Players.

TS AT & 3Fa<g Gr v §, 5w 3mr ar
frsd/ATaTt 14 11 P 71w # 3o Rer
T § 7 geaey 90 § 9% 9% 9
AT Tt @ et v gar g e oy
H 8, 6 Ru aw gaden F ¥ sl Aa
T H e forssmd/Aear Adrem S gewar §)

I 3ea H AfEe o
L wit &St s §
I1. F37Y 7cTeh T
Fred .
/lgam:rc‘m?.]
Yo e R
A) Only conclusion II B) Both conclusions 1 &
)follows. ‘JJIal follow.c
el fasmd 11 fsd 1 3 11 @t
fPreForar B e #
C) Only conclusion 1 D) Neither conclusion I
follows. nor II follows.
e fasad | Aar g adr
e 8 1l PFerar &
P.T.O
T ]
E o
|‘:_-:|“ ‘ = $ 58 1 - Mg a1 ot s Rodt
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11) Ifamirror is placed on the line MN, then which of the
answer figures is the right image of the given figure?

Ife T EdoT Y MN J@T ux 1@ S ar &Y 18 3ca
[ 3ot & el gl e mpfer B W
gfafees geiy

Question Figure / W& 3mgfar
M

: E
N

Answer Figures | ST JTHRR

9 R B

12) Find the missing number from the given responses.
il fow arw fasredt & & o wwwr A A
7 3 160
7.
?
- 42 84 140
L
, ﬁ) 2 'Q) 17
o C)9 D)34

AQ201 7--66

10088
14) Book:Literature A,

TER

W;m‘%ﬂ':: 7:7
N T
b{m Man : Beast ) Dancer : Musiciap
HIST : Ad® : Feftar
C)Song : Music D) Species : Science
afre : FIhd T : ey
LN
15) 21:3:5574:?
A)97 B)23
Gy82 D) 113

16)

52

" i TR Y gl &7

Giant : Dwarf :: Genius : ?

e : T o Sfceel < 2

A) Tihy B) Gentle
aeT HoaAed

¢) Idiot D) Wicked
ag g<

Choose theAcon'ect Venn diagram which best illustrates

the relationship among Hockey, Cricket, Games.

T e 3T I g S g, e, Wit e

@O

QO
O

mmm%

A) _B) C) D)
Question Nos.13 to 16
Yo7 HEar 13 @ 16 9% 18) How many triangles are thcn:c in the given figure?
Directions / fader: Select the related word/ letters/ ¥ T # e Feger §2
number from the given alternatives. A D F
2w v f3weyl & & gratetra wsey 3Ry qaar #t
H
13) TE : EATR :: SEAT : ?
A)TSEA B) TESA
B ] E
S)TEAS D) TSAE A)16 B8
)8 D) 12
P.T.O
A= s
. S RE;‘E J1111 7 iﬁmﬂﬁg@mmﬁ
Govt. atlway |AS- GK -
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19) Which one of the given responses would be a
meaningful order of the following?
1. Cutting 2. Dish
4. Market 5. Cooking

oy et 3 & Fier-ar Rew o R 5 el
7 arde A et §?

3. Vegetable

1.&rean 2. 9ard 3. Geall -
&

4 FTAR 5. qaRTAT w2~

A)1,2 4,5,3 B)5,3,2,1,4

€)3,2,5,1,4

/D)4,3, 1,5,2

Out of the four words given, choose the word which
cannot be formed using the letters of the following
word.

R 7T IR e A ¥ 9F UG g 3 et
9ree; & ETIT ST TOET ek el ST ST Hehell|

20)

TRANSLATION
A)RATIO AB) NATION
_C)TRANSMIT D) TRANSIT

21) From the given answer figures, select the one in which
the question figure is hidden/embedded.

&) 1§ IeaT Tl /A I/ Icak T Y g
orest v agpia ARa &

Question Figure / W g

Answer Figures / m

:
K

23)

ML 11 S e e

22) 'Z" started walking straight towards South. He walked a

distance of 15 metres and then took a left turn and
walked a distance of 30 metres.Then he took a right

turn and walked a distance of 15 metres again. Z is
facing which direction?

'Z' = EFRYoT R F Wty Tt % R 9w 15 #Hex
T 3R TR a7 3R gt 30 #ireT oo R a5 oS
HRHZH 15 Ared 7o) 319 Z fora e fr 3R wg
Fh @I B?

A) North B) West
IR afREH

9) South D) East
afaror Ec)

Which answer figure will complete the pattern in the
question figure?

T G IcaT BT T Hpia & AfawT &y gy
HEM

Question Figure / Y& 3mgfa

A) C) D)

A) B) C)
P.T.O
P-5085/80505(3) g
— &= -
E S ¥ i A " || NN
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24) A word is represented by only one set of numbers as

given in any one of the alternatives. The sets of
numbers given in the alternatives are represented by
two classes of alphabets as in two matrices given
below. The columns and rows of Matrix I are
numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column,
e.g.,'A' can be represented by 00,44 etc., and X' can be
represented by 78,97 etc. Similarly, you have to
identify the set for the word PICK.

T 202, e Ueh TEAT-Tg ST Sl I
ém%ﬁmaﬁﬁ#ﬁw\‘rwﬁﬁmwmﬁm
ﬁmmm-wm%;amﬁa@mamm
%,ém%mﬁvmama@ﬁmmlaa
T 3R O & dar g W4 qrTE Y 3l amoyg
11%5#9.333*13@#@3{&1;3}%?3??&
ﬁﬁ?faﬂwaﬁﬁmmmaaﬁmarm%]
mﬁw*ﬁqu\'aﬁmﬂu{ﬂ%a@ma@ﬁmm
W%Hm'x'a;}mmanﬁmaeﬁmmm
ﬁwﬂwﬂmqa'#mﬁﬁumggmsﬁv
THE T UEaTetaT

MATRIX-I MATRIX-II

W-I ST~
| [0/1]2)3 4] | [56/7/819
0/AIRB|CE S KIPITILIM
1 TIH[S|E[R] 6 XW|Z MG
2 RIE/H/D|S||7 ,E_L_*S,XLE
4/8/D|T 0| 8GN F|Lw
4 EBIO|RIA|[9|N|P[XI[ZTL]
A) 76, 66, 34,98 B) 65, 67, 43, 65
,0)56, 76, 34, 55 D) 76, 67, 34, 89

25) IfP denores ™= ',Q denotes ', R denotes '+ and S

denotes '-', then 18Q12P4R5S6 is equal to:

AP+ T HIH &, Q 'x' F I &, R '+ 7 G &
3RS ' & FIH & ar 18Q12P4R5S6 e sra
g

A)65 B)36

953 D)34

ey
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26) If '@ and 'b' are positive integers such that a2-b2= 19,

then the value of '@ is: LY

af g 3R R o R g o a? - b= 19,
a\"a'a;l'mm o
A)20 B)19

910

X"

27) Afanis listed at %150/~ with a discount of 20 %. What

additional discount must be offered to the customer to
bring the net price to 2108/~ ?

Ry T Ay R 20% FEI S WA I150 P
& ¥ TRt 1 F W Feldr & s & faae
&rd 2108 8 Sw?

30)

31)

W & : e sfvve

The average age of 30 students is 20
age of 20 other students is 30

total number of students is:
30 AT A 3ae 3 20 A ¥ 3R 20 3y Tt By
MHMNﬁEgﬁrmﬁaﬁmmw

ﬂ 24 years B) 48 years
2438 43T

C)25 years D) 50 years
25 50 ¥

years and average
years. The average age of

A fruit seller buys 100 kg of superior variety of
mangoes at T45 per kg and 200 kgs of inferior variety
at 240 per kg and sells all the mangoes at 45 per kg.
The profit percentage of the fruit seller is:

1S T Farshar oY e & 100 TR, 3ma 45
9t . Fr X T @lea § 3R po ulea v &
200 R, 319 240 ST B A, 1 o F whe § IR

e AT A T4 Ui A, G W AT AR 3W
A)15% B)5%
et TR AT WITeT SifcrRreT SIS U?
)10% D)20% ;
S A)y2 B)12.5
9
28) The radius of a circle is increased by 10%. The :
? ! percentage increase of its area is: ))8 D)25
el e B TS 10% 75T & S ¥ 3HE & “
# frewt w1 i gRi? : 32) A certain number of men complete a piece of work in
8 B)20% 60 days. If there were 8 men more, the work can be
8)21% ) 20% finished in 10 days less. The number of men originally
C)11% D) 10% 18: _
Fo IEA PRI FHE A 60 R A aa § af
29) Ifthe ratio of areas of two circles is 4 : 9, then the ratio 3 1A O 8 ey AR o ferw S i ag 10
of their circumference will be: ﬁﬂqﬁwﬁmﬁww o 3
T &1 gealt & ST T HguTe 4 : 9 &Y, Y 3 —— B owe el
b 7 A)32 _B)40
A)4:9 By2:3 :
)36 D)30
C)3:2 D)9:4
33) The simple interest on a sum for 5 years is 3(5 th of
the sum. The rate of interest per annum is:
el oflr 0¥ 5 9 & T R s sE o
“ 35 % e waror ax sarEw
At o, B) 10%
2
L) 12% D) 8%
8
ﬁ N
A= $ 58 *' P || P,
Daily G 't k Railway IAS GK k ' I = ’
OV - o
currengpc S5 B = esoo 8= 31 9 Sarkarik elp.com
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34) A shopkeeper sold a TV set for €17940 with a discount
of 8% and earned a profit of 19.6%. What should have

been the percentage of profit earned if no discount was
offered?

Rl gFeER o @6 &, sy el 2
17940 T qur 3R 37 9T IY 19.6% FT AH
B3 IR 3w AA. w B FHh A & 7E AN
S R wfdwra amr gam @A

A)23.07% B)24.6%

C)24.05% D)24%

35) At what percent above the cost price must a person

mark the price of an article so that he can enjoy 20 %
profit after allowing 20% discount?

ﬁémﬁammaﬁrﬁmﬁmmﬁ
et sfderar arftrs v aif oY B 39

20% FEAH 3 & geErer o 20% F A A2
A)60 %

_£)50%

B)30%

D)40%

36) Ifa train maintains an average speed of 42 km per
hour, it arrives at its destination at the right time, if
however, the average speed is 40 km per hour, it
arrives 15 minutes late. Find the length of the journey?

e ¢ Yo stheaet 42 Rt wiy o frarer
et T ¥ o ag 3r9e) st v o wé gE
W 9B STl §, freg afe staa arer 40 R ofy

T g < 9 3ied T W 15 e S A aduar

FATST AT fhceT ot &7
/A)210 km B)205 km
210 f.5. 205 7R,
C)209 km D) 200 km
209 .5, 200 f5. 7.

W & : HeTeT Aty

—

ain C(]Vers a

37) Alr 6 seconds t0 pass a telegraph post, then the length
takes .
train 1s:
Ofth:_(_ﬁ_n?r 10 Wﬁ 12 ﬁ;;ﬁ @Hﬂ'ma‘ uﬁ
A Y 6 QFUS FH IR F AN ¥ a@r
o forely EellaT® G I 6
= ra:rn‘:?raﬁraﬁé FaAT?
A)J20m B)90 m
#Hrex
120 AeX 90
D) 140 m
0
“ 1?}0 ;?.T 140 #reX
38) Aspherehasa total surface area 9Ilcm? . Its volume is:
e 3T T el 0T &l 9llom? & T SHH
Hrade adET ?
A) 36IIcm? B)18 Tem?
C)§ Ilcm3 (P)g- HCm3

@ The population of a city increases at the rate of 5% per
annum. If the present population of the city is 3,70,440.
Its population 3 years ago was:

Tl 2rex 1 SierEET 3 5% arfie Fr gig B
7 AR T TAATT THAEEAT 3,70,440 B Y TABT

39 qg 2T i T FerEEar 6o
A)2,80,000 B) 3,60,000
A273,20,000 D) 30,000

40) '.l“he least number of five digits exactly divisible by 88
is:

a1 376t S ST WA S 88 | Uie: s g

na
|

=]
1
=z
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—_ Question Nos.41 to 42
VT TSI M J42TF

pirections / @ The following bar diagram graph

depicts the sales of items (in lakhs) in a
store from April to August in the cu
the graph and answer the following ques

the data pmvided here.

RrAfaf@d 1T ST #H R
ey & # 8T HET
R T &) A FTHETTA
e g FATARA i #1 3 &

departmental
rrent year. Study
tions using

RurtAreT TN

=¥ 3l RT T HFE FT

bkl G

‘ﬂ'm:lf)
g

1
T

saLEs /TOBY (i Lakhs /
5 & & 8§

—
]

44)

41) The sales in July is how many times to sal

mmﬁsﬁﬁﬂnémﬁséﬁﬂ#%aﬁw

HRFHE?
A)300

C)2.5

\/ APRII. MAY JUNE JULY AUGUST
aw w§ G Ja§ WRA

B)3

})2

42) The average monthly sale (in lakhs) is:

irae AR Tk (@ ) §:
A) 600 B) 780
C) 650 B)720

es in May?

45)

43) A litre of water weighs a kilogram, a litre of another

liql..lid weighs l:340 kilograms. A mixture of the two
weighs 1.270 kilograms per litre. The ratio of their
volumes in a litre of the mixture is:

e THeX STel T I9iet U Tohailar § 30 va forex
U 3T &0 &l aviel 1.340 Freana g afE sa =t
1 TR fr Se aY 3a% BT ad= 1.270

Rr 31T, s freT &Y sira &) e ToreX [T 3 e

AT Sl IFATd AABT?

A)27:34 B)7:27
——

C)17:24 D)7:17

A merchant buys 20 kgs of a variety of rice at Y14 per
kg and another 40 kgs of rice at T10 per kg. He mixes

them and sells 1/3 of the mixture at ¥12.50 per kg. At
what rate should he sell the remaining mixture so as to
carn a profit of 25% on the whole outlay?

1S caTaTdy e e & 20 .3, Frad 314 i
%.m.@rawaﬁrwmﬁama?mﬁim
miloqﬁﬁ?.m.ﬁmwm%aﬂtﬁ
Covem 2 &) 3 /3 smaT aE 212,50 WY R, HY
2T I% e & AW AT aE g e W & R 3
FFOT IR W 25% T S &7

A)Z12/- BIT15/-

C)%12.50/- D)Z13/-

A man sells an article at a loss of 10%. If he had sold it
for 275 more he would have gained 20%. The cost
price of the article is (inRs.):

S safa S TEG 10% BTN TR Sl 8] AT 3HA
s 275 3T OT 3T AT A 3H 20% ST el

e 1 HT A (TI4! H) AT
A)225 B) 300
_Br2s0 D) 150

Sy S 5% M P
Current ' C Bank ailway IAS-
Affairs Jobs PCS G eBooks

1Ml § St 6 ofl oot Bedt &
“m |Sarltar|HelpJ:nm
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T & : HeTess sfirefy

46)

A person spends 25% of his annual income on house
rent, 15% on education of children and 45% on other

items. If he saves ¥14,400 annually, then the person's
total income is:

IS AT 31 i 3 v 259 s T |
fRIT Oy, 15% T Fresl Ay Ruetr 9x 3T 459 ST
maﬁwmﬁaﬂm%ﬂ%aﬁa&ﬁmmuaﬁr

50)

‘—-'——n_____h_
Of the three numbers, the first is twice the second, ang
the second is twice the third . The average of the

reciprocal of the numbers is 2. The numbers are.
mmﬁﬁwmmﬂmﬁm%
ogeha 1 3itad /12 ¥ HEa s

5 B)4,2,1
T T & A ST FeT 3 T A)20, 10, .
A)398,000 B)Z1,00,000 C)36,18,9 D16, 4
C) 96,000 3)?1,20,000
47) The sum of the present ages of father and son is 90
years. 10 years earlier the ratio of their ageswas 5 : 2,
The present age of the father is:
Mﬁmmﬁﬁaﬁmmaﬂmmoa&a 10
a&qﬁmﬁmﬁs:zwmma’rﬁmﬁ
THI I TS
A)65 B) 68
C)70 _D)6o
48) Acando a piece of work in 5 days and B in 4 days.
How long will they take to do the same work when
working together?
AWWE’TS@HﬁWW%SﬂTBmW
ﬁ4ﬁaﬁwm%maaﬁiﬁmwmmﬁ
e et & ware w4
A)3_2_ 3)2_2_
9 9
C)4_1 D)9
3
49) 1/2ofA=2/50fB=1/30fC,thenA:B:Cis:
afe 1/20fA=2/50fB=1/30fC,€rF|T A:B:C
FT N
A)4:6:5 B)6:4:5
9)4;5:6/ D)5:4:6
.
D——“ ﬁ... 58 i *‘ 1Millg ot & udl srarerRt Bedt &
v - Railwa IAS- GK  eBooks [ - = ISarkaﬁHelp.ﬂﬂm
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Part C :General English

Question Nos.51 to 55

tions : Read the following passage carefully
oose the most appropriate answer to each
the four alternatives.

Passage
ition mountaineering could be viewed as §Iow and
heavy, where climbers may use portex:s, pack animals,
glacier airplanes, cooks, multlple_ carries bet:ween camps,
usage of fixed lines, etc. Expec!itlon mountaineers still
employ the skill sets of the Wr, exc.cpt they
have to deal with even higher altitudes, expanded time
scale, longer routes, foreign logistics, more severe Yveather,
and additional skills unique to expeditionary ¢ m"lbmg. Tl.1e
|prevalence of expedition-style climbing in th&? Hl.malaya is
Liargely a function of the nature of the mountains in the
region. Because Himalayan base camps can take days or
weeks to trek to, and Himalayan mountains can take weeks
or perhaps even months to climb, a large number of

Direc
and ch
question out of

Exped

—

54) What accounts for the greater prevalence of
expedition mountaineering in the Himalayas?

A) glacier airplanes B) the severe weather

congition
.gthe specific nature of D) multiple carries
mountains between camps

55) Which of the following is best undertaken as
expedition mountaineering?

A) medium-sized }) short time scale
mountains mountaineering
C)peaks in Europe and D) large and isolated
peaks

North America

Question Nos.56 to 58
Directions : Four alternatives are given for the
Idiom/Phrase underlined in the sentence. Choose the

alfernative which best expresses the meaning of the
Idiom/Phrase.

. rsonnel and amount of supplies are necessary. This is
- |why expedition-style climbing is frequently used on large
and isolated peaks in the Himalaya. In.Europe and North
America there is less of a need for expedition-style 56) John was as good as his word and came on time for the
climbing on rgost medium-sized mountains. These < meeting.
mountains can often be easily accessed by car or air, are at o
a lower altitude and can be climbed in a shorter time scale. A)convincing B punctual
§1) Which of the following is true? C)able to fulfill his D) a promising young
2 promise man
A) Expeditionary B3 Most medium-sized
climbing is popular in peaks in Europe are .
the Americans. accessed by car or air. 57) He came to work looking very off colour.
C)Himalayan base camp D) Europ_can and North A)tired B) unhappy
treks can be completed American mountains -
in a day or two. require expanded time C)worried D)ill
scale for climbing.
52) What necessitates the huge amount of supplies 58) I was asked to take a hike for a comment I made.
and large number of personnel in Himalayan ;
expeditions? . ’A) be quict B) think
A)foreign logistics B)low altitudes C) leave D) take a break
’9 cxpanded time scale  D)severe weather
- sondition Question Nos.59 fo 68
Dt"rections : Sentences given with blank to be filled in
53 ; . s with appropriate word(s). Four alternatives are
) X:;?‘fjl 0:5113 t;:lolwmg S(tlyllle of Toumameermg is suggested for each question. Choose the most
idered to be slow and heavy? appropriate alternative out of the four and indicate it
A) sports mountaineering _B) expedition g; blackening the corresponding circle in the Answer
mountaineering il
C)alpine mountaineering D) Himalayan
mountaineering
P.T.O0
‘ = $ 5% 1l *-
L] =
Daily G—t Rl — I ﬁﬂ]ﬁfﬁlg@mmﬁ
ot. ssc pank Raiway As ok esooks [ a= IS arkatii
Current Jobs PCS “ma ar a" lﬂp.ﬁﬂm
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soon as this wor 5 ' 088 __— St .
e ak;hop is over, I am going to

. y and go qn.a holiday. 67) He loaded the of cotton on the truck.
A)sidetrack B)abend

" > A baskets _B)bales
C
) overthrow D) close down ) bunches ——
60) Shelr_ great pleasure and satisfaction from g8) Anything is which is not against the nature
N of things-
Avent B)has A) practicable B) parable
Hims Pdesives C) probable D) possible
Question Nos.69 to 73
rt of the sentence is

tions : A sentence or 8 pa i
i n altamatives to the

underiined. Below are giver

undertined part which may improve the sentence.
Choose the correct alternative. In casé no
improvement is needed choose “No Improvement’.

61) Poetryisa form of expression in which the
particularity of the word and the image 10 evoke
feeling, assumes great importance.

B) patronized

A) suppressed

9 compressed D) digressed
hools in either sides of the road.

69) There are schools in either SICES.

with contempt for the prisoner
s} B)No improvcmem-z

62) He was so filled
A) school on either side

that he gave him a look.
2 hmilise? R C)school on either side B) schools on-either side
C) pitying D) hurtful ; ) ‘
70) Many years have passed since India became free.
a trip to Canada.
B) has became free

@ Next summer we're going
A)No improvement

D) become free

A)to for
/5) JE) had became free

C)on D)over

PN

' 71) We acted your instructions.
64) Romeo and Juliets affair is probably the
most loved of all times. A)acted over your ._B) acted upon your
A)secret B)covert C) No improvement D) acted your very
C) candid D) clandestine
72) Assoon as I called her, she came out of her house.
65) The towards the school was very steep. A)is coming out _B)No improvement
- cend
Arss B)ascent 2 C)come out D) has come out
C) assir}t D) accent
73) Coding is nothing but putting up information in a given
66) Some interesting matters in our discussion A

yesterday. _A)filling up B)No improvement

A)came up B) got uj isi

A ) got up C) organising D) putting in

C)came in D) came about

P-5085/80505(8) 12 Fro
A= 5
5% il ry
urrent ' ssC i ) g dardl
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have errors
- art of the sent_ences

s ;ESggv"igL Find out which pa(t ofa
i is an error and blacken the c:rclg :
o Z to the appropriate correct qprfon. Ifa
comeshor ”;r%e from error, blacken the circle

sentence IS “No Error” option in the Answer
to “No Erro
corresponding

Sheet. .
@ Could you please maintain silence for a while?

A) please maintain silence B) for a while?

'(;)Could you D) No error

75) She hopes to become an engineer after she will
complete her education.

A)an engineer after she _B) will complete her
education.
C) She hopes to become D) No error

76) Kindly please direct the tourists to the museum.

_A)Kindly please B)direct the tourists

C)to the museum. D) No error

)

If you stand with me in hour of need, I will never
forget you.

T

81) All the girls students are

. advised
Mmeeting positively, 19 tond the
A) attend the Mmeeting B)N
positively, Py
LAl the girls students

D)are adviseq 1o

82) The thiefhad hardly put the cash in his pocket
then the owner woke up.

é)No error B) The thief had hardly
C) then the owner woke D) put the cash in his
up. pocket

83) Bengal tigers are now almost extincted,

A) Bengal tigers B)are now
C) almost extincted. D) No error
Question Nos.84 to 86

Directions : Out of the four alternatives, choose the

one which best expresses the meaning opposite to
the given word,

@ scatter

A)No error B) I will never forget you. .
A) store B)pile
C)If you stand P) with me in hour of
need, 9 hoard D)collect

78) At last he married with a poor girl. 85) peak

A) At last B) he married A) inferior B) deep

C) No error D) with a poor girl. C)mount D) bottom

- v
79 :
) Our team played a football match, 86) despair

A)played B) Our team _A)hope B) sorrow

C)a football match, D) No error C) repair D) empty
80) Itis beﬁt:er to stay at home than go to market when

1t 1S raining,

A)when it is raining, B) No error

C);ltoi;:euer to stay at B}than g0 to market

e ———
... — $ o o IR L1 [ *' Ml das &t ol sierorst Redt @
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General English AQ2017--6610088
e is dead.
Question Nos.87 to 89 93) One whose Wife!
Directions : Out of the four alternatives, choose the — B) spinster
one which hest expregses the meaning of the given At '
word. , ) bachelor D) widow
94) That cannot be explaincd.
@ Exactly A}intolerable B)inexplicit
A) Different LB) Precisely C) irrevocable -P) inexplicable
C) Similar D) Same
) ) —Question Nos.95 to 100 ;
. jven, out of which only
irections : Four words are given,
88) Answer f,’,,e word is correctly spelt. Find the correctly spelt
A) Response B) Speak . word.
-
C) Question D)React
89) Pain 95)
A) Comfort B) Vibration A)hiar B bies
QAche D) Throb _g) heir D) heirr
i
Question Nos.90 fo 94
Directions : Out of the four alternatives, choose the , e
one which can most appropriately substitute the given A) milenium ’ ‘B_)mnllennmm o
word(s) or sentence.
C) milennium\ g{millenium
97)
90) The centre of attraction.
A)hygene B) higene
A)cynosure B) focus
_C) hygiene D) higiene
C) custodian D) point
98)
91) The murder of one's father. .
A) government B) goverment
.9) patricide B) homicide ’) e
C) guvernment D) goverrment
C) fratricide D)regicide
99)
92) Overturn in water.
A) skeem
A) drown B) swim ) B) scheme
C)skeme
C) wreck ‘/D,) capsize ) D)sceme

i -
Daily GO.'V; : Bik my % ?‘ Sook 'sﬁmﬂkﬁg@jﬁaﬁlﬂﬁﬁﬁﬁ
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B) cyllabus
|

100)
illabus
At D)sylabus

9) syliabus

=] A = S i P
%;u i = ? LN Mg a6 ol s fsd &
il cor s wn Ry et o esooc S ISH || SATKAE elp.com




Downloaded from www.Qmaths.in

part D :General Awareness

W o QT AeTh

AQ2017--6610088 ‘______‘\
Fidiko ook 1086) A is a program that interprets and displays wey,
FerLD-General A Pages
e —— wmmm%waamﬂﬁaéawmh
kL A D
101) Amrita Shergil was a famous . FLATE? —
r
? THURE o A) i;r_:c
ﬂ singer B)dancer ‘ = aLll- 3nk5|‘
CaLy C) Website .
e
< d@arEe
Coptinhes D) painter
107) Katherine Espin who won the crown of 2016 Miss
Earth belongs to which country?

102) The highest plateau of India is the:

maﬁzolsﬂaﬁmmmmﬁm

AR T FaId el TR Hll-A7 87 sordIE?

A) Chota Nagpur B)Malwa A) Columbia B) Phillipines
BT TR Hrerar St Rrel e

C) Ladakh D) Deccan C) Ecuador D) Venezuela
il afRon el dergeen

103) Which of the following elicits the Public opinion on a
Bill?

108) The State with largest gap in male and female literacy
is: )

et Rt X e & e e SiaAd o UF Al BIRRT 1 Fall 8 Herer arell T3
#Y JTARTHaT g &7 Ay, ;
A) Refer‘endum B)Recall : }R'gjasthan B)Kerala
AT IE SFRERT - T Lac|
j) ;::?“;ag D) ::;auve C) Uttar Pradesh D) Madhya Pradesh
Feo wewr ALY W

104) Biogas is formed through :
a3 fhe S TS ST 87

109) The law of demand states that when :

: e 7 F A gl & o o :
A)Fermentation B)Reduction
g FFFOT A)income and price rises  B)price rises demand
demand rises. rises.
C) Aerobic respiration 9) Oxidation 31 3R BT T P saedt & Y AT
g eawa JiferdiraRRoT
ar o afr g B shrage ¥
105) Hepatitis is a disease of the: . A d
Fersfew Readr A price falls demand D) income rises deman
L ) rises. rises.
A)Kidney B)Liver P PR Av T e g & o T o
Ly T oy e
C) Heart D)Eyes
(=L ke
T A B m
E = S = M A .
Daily . Rail | dardl o ol sierort Bodt &
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;;n;\;;uﬁﬁﬁﬁthﬂwm%maﬁmm
& 1-

A)chilling B)annealing

g reie

C) quenching B)tempcring

el G

444) Fraternity means:

dga w AT FE?
A) Unity and Integrity B) Elimination of
THAT TF Jr@EaT Economic Justice
F =
Gree)
C)Fatherly treatment D) Spirit of brotherhood
e
Rarger R ST T ST
112) The Pallava dynasty had their capital at:
Teord TS 3 o HeR TTeett gt et
A)Kancheepuram B) Vengi
~ FidgE &
* .C)Madurai - D) Thanjavur
A AR
113) India signed the 'Paris Agreement' on 'Climatic Change'
in April 2016 at:
AR =1 IR 2016 F Ferarg TS w IRy
THE O FET sEER Rrw
A)New Delhi B) Geneva
a$ e Sierar
C)New-York D) Paris
eicy W

114) Nek Changd Saini's

ey

name i i R
following gardens; S associated with which of the

wTeeie, el a5 T e

ST I o
Y
A) Sh'alimar Bagh, }) Rock garden,
Srinagar Chandigarh
WAAR a9, s T e, g
C) Vrindavan Garden, D) Hanging garden,
Mysore Mumbai

115) Which of the following sultans adopted Persian

customs and manners in court:

ﬁmﬁﬁaﬁ#mwﬁmﬁmﬂ%
Rarsit &t arqarar
A) Iltutmish B)Jalaluddin Khilji
Jeaaer STATRNT et
C)Balban D) Alauddin Khilji
Folae Ie3E Rerei

116) Who convened the 'Congress of Vienna', 1815?

Tree =i 3w Rvar, 1815 &7 3maiee fsam
A) Bismarck

B)Mussolini
~ R T
C)Metternich D) Napoleon Bonaparte

117) In the context of alternative sources of energy, ethanol
as a viable bio-fuel can be obtained from:

F3 & dehfeds el & dest # caagr st Sue &

I A sUTe! TraR aTee R s wehar &7
A)Potato B) Wheat

3T LU
S) Sugarcane D)Rice

el Elcr)

118) Buland Darwaza is located in which fort?

Folg, et e forer & R &2
A)Red Fort at Agra B)Red Fort at Delhi
TR & oo feher feeelr # et fem
C) Fateh Pur Sikri D) Hawa Mahal
elg g Al o g
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Part D:Conerel AumeeTias AQ2017--6610088
i : ing is the Vice-Chairman of
119) Distant objects can be seen with the help of ? 123) Who amongst thg S:!ﬁ\‘:';%{‘gg‘g pElRRane
s ly forme
T Y aTqe e e J o wwd & the newly Oﬁﬁm;ﬁ:ﬁﬂ?ﬁﬁfm%
A) spectroscope 9 telescope 7. 318 &7 !
TR efoE - JpyA.B. Bhattacharya
i "Arvind Panagariya 5
C) microscope D) cronometer A ool Al
ATSHIEHIT Frer Hiex —— D) B.V. Kamath
e arar. FHAY

Fofr. U

@ Which country will host the under-17 FIFA World Cup
Centre is located at:

in 20177
|r arch
g =T AT Himalayan Forest Research (€
AT &2 2017 & 375W-17 PpT T8 FI A @) i ' _
‘ B) Bhutan
i hradun
A) Germany B) Brazil }()’De
Shimla
; im
9India D) Spain C) Srinagar D, )
oA 2o b G LIES fRvaTel

s used for the detection of

: t also o test i
121) When all inputs are doubled and as a result, outpu 125) Brown ring
doubles then we have : ' Wmmmwmﬁaﬁﬁvmm
S e e I 8 oI &, IR R ¥ "
: £ 7
fordier o 57 €Y et €, @ 6 e N B)chlonte
A) Increasing returns to B) Constant returns to T
scale. scale. qehe -
T giawe SHE feeR wfarer 4ofTel & C) phosphate D) nitrate
. & IgErd] A ]
. D:lcreasing PORREES D);_(: e Optlt:;‘-l;- 126) The element involved with blood clotting is:
e. Aol ;
:mmamﬁ aﬂ%% o & A W g e HIA-HT 87
¥ HTAXE] A)Iron B) Phosphorus
dlg " BN
122) Two gaseous molecules can react only when they have C) Sodium D) Calcium
" afsza Eareoi: |
aY i 370y /T @Y O] SRR W H 67
A)energy B) entropy 127) Through which states does the river Chambal flow?
=l werdr TS ALY et Tt 7 B aEd Y
C)Free energy /Dj.orientation / steric A)MP, Gujrat, UP B) UP, MP, Rajasthan
god FalT factor -~
R e AH., TR, 3H. 3N, HA., TSI
- C) Gujrat, MP, UP, Bihar D) Rajasthan, MP, Bihar
IR, AT, 3., AU, AT, e’
fer

c= .‘. = U—"E 1111 *~ Mg ot 6 o sierorst ot
Govt. s Bank  Raway lAs Gk eBooks 2=l |Sarltar|Help£0m
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al Awareness AQ2017--6610088 AT Y : Wy :
== 132) In wint i : :
. f: er, at the time of hibernation, Toads maintai
128) A hinged door is an example 0 - T maintain
. o A, aﬁaﬁarazw,agamﬁmﬁ;wa
A)First order lever B) Third order lever =
C) Cantilever D) Second order lever A) Eoth by Skin and B) Skin
Faehat ZRdT 3 A RS ' =T
) T@GT Td wE At
— ¥
129) The sub-marine of Indian Navy is:
TR S 1 3 o AT FT 62 C)Lungs D) Buccal cavity
A)INS Virat BYINS Vikrant S ——
INS e INS fasprct
C)INS Sindhurakshak ~ D)INS Rajali 133) The objective of Sangam Yojana of the government is:

INS T WEHR A WA T F 3227 F=01 &7

To ensure welfare of  B)To unite various Hindu
handicaps & disables. groups

INS fHyReTs

130) Stories of Buddha's birth and his previous lives are

contained in: b %E‘ T
TE & oA 3R 365 U9 SToA Y Feliardm ohad 1 FHearoT FlARHT TS ).
Hehferd &7 =]
A) Tripitakas B) Jataka tales C) To make Ganga water D) To make Sangam
“ AR O — pollution free. region of Allahabad
, ‘ I F IR Fr YEHOT more attractive for
C) Panchatantra tales D) Triratnas tourists.
gucH f FEEar . B ' e SATEIEIE & HIH &1
- - & 9gEH & T
131) The basis fgr dete_m?ining the dearness allowance of e 3w SeATe1|
employees in India is:

YT 3 ettt & Hams sieet & fovefiwor a7 3mamw

& gﬂ 134) Does the President of India have veto power?
‘ T HIT 3 g el bt e §2
A) National Income. B) Consumer Price Index. AYNo ) The Consition's
™ R LE Crdl silent on this.
. s e A wfaua &
e AL TG 8]
C)Per capita income. D) Standard of living, ) Ony formoney e il
e MR NS
faT
i d to a king under?
435) The consumer is compare
: SositeraT Y g e e T FHr g
A) Communism Mxed Eco:omy
C) Capitalism D) Socialism
i HHTAIG
qararg

ﬁ $ o
= ‘ - 5% 1 B Ml 3ot &t ol smrems Rsdta
corent SOt ssC - Bank  Relway s GK - eBooks 42 |Sal‘|(arIHelp.l:ﬂm
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136) The term Renaissance means:

SO 2reg; T 3 FATE?
A) The Golden Age e Era of Religious
@t T Reforms
i GURT 1 T
C) The Dark Age D) The Age of Reason,
3T Enlightenment &
¥ Discoveries
T, Vet Ud et

ahlel

137) Which type of function does the analytical engine

perform?
8 2189 &1 FF (function) FRENYITCHS Sotel
forsares Fwar &?
A) Logical functions B) Arithmetic functions
afes wrt s a1
C) Control functions D) Relational functions
@dor FE W FE
@ Which one of the following is a land locked country?
ERRT A ar e i
A)Russia B) Austria
o B 7
C)India D) China
T Y e
139) Area which supports the economy and export trade of a
sea port is called its:
o &t T el woady sdeems & oy s 3
Ideaen RPN s IS
A) economic zone B) export basin
I & e afaer
C)umland D) hinter land
Bitcoiny Ml wder

-t S
140) Inan inflationary situation, which of the following
statements is false for a country?

s B Y 3, Prerfore # 3wty
FHUA TR & & GO A AT &7
A) Cost of living rises. B) Profits rise faster than
Sfoe g amdag  Veses.
% Gl & o= F
L A & ag ¥
C)Value of money falls. D) Country's export's
. HHFTT become more
qett s competitive.
gl & ¥ g sfs
gfereadl & an §

141) Which one of the following statement is True regarding
rate of interest:

ST eX & deay & PeAtaad & & @ear
FY TE ¢

A) Rate of interest may be
zero.

B)Rate of interest
increases with

TS 2T P &Y economic growth,
FE Y TS X s
e & Wy Tt Y

C)Rate of interest can not D) Rate of interest cannot

~~ be zero. be determined.
TS & U STET & TS &3 &1 fufRor
HHar g el o Srar

142) Which of the following is an example of direct
democracy?

ﬁmﬁ@aﬁ#wmmmﬁmh

A Village Panchayat B) Gram Sabha
RIGIEDID ) AH FHT

C) District Panchayat D) Nagar Panchayat
IECIEIn ) TR G

143) Who among the follow
winner?

s T rer B R Hreifew qea Rorar 78 &2
A)K. Malleshwari

ing not an olympics medal

B) Abhinav Bindra

F. Aoy e R
wala Gutta D) Mary Kom
ﬂﬁﬁ‘ﬂ@ AN F
P.T.O
A= o
A = S J1114 iMils 3 & ot s e 2
o cat s R s o ool 1SN |ESarkatiEY elp.com
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D .general Awareness SIS : QT St —
partL - ; ; 1 ;
tomata are present in the: 48) A Computer that keeps copies of responses and recent

144) ::::uﬁﬁqﬁmlﬁ%’ | ;:Uests is kn:ﬁw;:: = g R
ﬁVentral surface of Leaf B) I;::‘éj“ g o § A M & R st b o
qelt ¥ LR AT A) Mail Server
_ D) Dorsal surface of Leaf ,B) Proxy Server
C) Veins o=t & I55 8T AT qR e W&
vt C) Server D) Web Server
145) A person suffering from long sightedness wears B el
Spectacles having:
st e A AR a8 T TEAdT &7 149) ?ar;lzg?a reserved for the protection of the wildlife is
A) Convex lenses B) Coneave convex [ens oy et 3 aToT 3 Fare 3R 8 ) e
N add Scad o & %
; . ave lenses
C) 1;:?;5 with negative D) ;:;; de b _A) Sanctuary B) National Park
C) Zoological Park D) Reserved Forest
serted in the wrofY ELuIC ) IR®T a7

Preamble to the Constitution by:

@ The words socialist and secular were in:
e & 38 R FATTAG foraeT 2reg
i # BiER 150) The largest part of our brain is:

e ST S 70 TN AT 1§ a37 Rew A
A)The 16" Amendment ~ B) The 42."d Amendment A} Eiypotialamous B) Medulla oblongta
16 & FaiesT 42§ wersT R Agar Hewider

he 44 Amendment D) The 7" Amendment A
44 § HaNHT 7§ waue C) Cerebellum P}Cerebrum

IR . AETS

147) A pressure cooker reduces cooking time because:

N HHT A AT T F TAT HA FAT 81 A

&
A) the boiling point of the B} it absorbs more heat
/. ater inside is from its flame.
elevated. Tg YA FaTeT ¥
et T T FaUATS o 3 317 T
d¢ AT g? -

C)the higher pressure D) the heat is more evenly
tenderises the food. distributed.

3TAAY g9 HiSie &Y IsAT HiOF AT T
HATIH ST ST 8] A RaRa el

5 A2 S wm Mo

g darst &t Il SereEt fAed

: _ ' I
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